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= 20,932,492
= 1,628,082
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= 1,980,000
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Ea 66,000
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O =20|= A8 A ALK 2,200,000
= 1,980,000
== 154,000
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308 XtXIEMSO0IE 24,798 25,705 2907
08 w=J| 202X 24,798 25,706 A907
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imb| 1,200,000 *90/100 1,080
O Hjel SXAIH(CIEH & AR
1,200,000 *90/100 1,080
O BOHOI=X ALEF ANSBE 72 720
O ZojIUIZ| BHE PP 2
70,0002 +3% 43| 840
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O OHQIBEINL NS5t AARIRE
SRS 70,0002 x4 +83] 2,240
02 S52g4l 6.300 6,300 0
O HiISEs SR8 Hises 3,600
O mOKel B =X DN
LER=S 2,0002+1,350& 2,700
202 048l 2,940 1,764 1,176
01 2L A 2,940 1,764 1,176
O ZOYI=XE SHOI|
70,0002 x5 %123 +70/100 2,940
oz 20 XNs(ExX) 4,790,774 4,707,924 91,850
= 3,375,622
=S 434,008
s 990, 144
301 EtE NS 4,799,774 4,707,924 91,850
= 3,375,622
= 434,008
[Ea 990, 144
01 Al EE AT S (2 RDEXA) 4,790,774 4,707,924 91,850
O Hofelds 4,799,774
= 3,375,622
= 434,008
o 990, 144
=== (01x) X2 730,242 708,326 21,916
= 511,169
= 87,629
= 131,444
301 EtE N = 730,242 708,326 21,916
= 511,169
< 87,629
s 131,444
01 AR 2EHSHS(RDNEERTHE) 730,242 708,326 21,916
O Zo=¢g Ol===21) 730,242
= 511,169
< 87,629
[Ea 131,444
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1,048, 1402 x7&H* 132 95,381
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Ea 2,963
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= 186,148
& 74,459
Ea 111,689
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== 53,907
o 23,102
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= 308,040
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o 23,102
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O H0He! OlSSsAHIA XA 90,000
Zoje! EsXAS0 XNS(EX) 8,994,332 7,045,384 1,948,948
= 6,658,686
= 856,116
[Ea 1,479,530
308 AXIHS0IA 8,994,332 7,045,384 1,948,948
= 6,658,686
== 856,116
= 1,479,530
18 SIS0t & HAS A 8,994,332 7,045,384 1,948,948
O ZOHISSKIAAS (HFR M A) 8,994,332
= 6,658,686
[ 856,116
T 1,479,530
oI SXIE JHRSH(EXR) 100,653 116,354 A15,701
= 70,457
[ 9,058
Ea 21,138
308 XtXIEMSO0IE 100,653 116,354 15,701
= 70,457
s 9,058
s 21,138
13 SI[2SOHE & EAS A 100,653 116,354 215,701
O ZU2SKE IHSH(BIRMAIY) 100,653
= 70,457
= 9,088
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[ 76,377
Ea 178,214
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=S 18,452
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s 1,848
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[Ea 1,848
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O A0 BXuw= 2,640
& 792
= 1,848
ZoHel CIADHM S HEfZat At 38,000 38,000
307 el2tol & 38,000 38,000
1 AMEISXAEEXS 38,000 38,000
O HOHIQIAD S & HEABAIY 38,000
ZOHQIOHOIIHASHZ I X2 1,764 2,520 AT56
== 529
o 1,235
301 2= 1,764 2,520 AT56
== 529
= 1,235
02 AR 2EH LGS (HAAS, NLWE) 1,764 2,520 NT5%6
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Ar2l = X 2t

M. DI N Ot BEA =X A8
Rl ZOHI=SXIAIE X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 2,623,344
= 5,943,726
HOCISXIAE HRFA 3,600 5,364 A1, 764
201 LB-2AY| 3,600 3,600 0
01 AtR2telt] 3,600 3,600 0
O ZlclisE 2850 B2 900
O ZOHQIAIAE QLY ZH XA} 1,800
O ZOHAUAIEHE 23 H| 900
HOHCIHFAIE 2H 10,074,576 10,950,5% A876,019
= 7,052,219
T 604,409
= 2,417,948
307 2I2+01™ 10,074,576 10,950,5% A876,019
= 7,052,219
& 604,409
[ 2,417,948
10 Al =S XA EEHE2IHIE X 10,074,576 10,950,5% A876,019
O HOHAHFAIE 2F 10,074,576
= 7,052,219
& 604,409
= 2,417,948
ZOCIBSMEDE 29 58,550 56,680 1,870
T 5,855
= 52,695
307 2I2+01™ 58,550 56,680 1,870
T 5,855
= 52,69%
10 IS SXAIEHE2ZHIEX 58,550 56,680 1,870
O ZfelssHaltd 23 58,550
= 5,855
= 52,69
ZOHCIAFAIE S KHEZ 9,000 30,000 221,000
& 9,000
301 LetENZ 9,000 30,000 A21,000
= 9,000
01 AISIBE X 2GS (2 UETME) 9,000 30,000 A21,000
O ZOHUAHFAIE EIAR RHEZ 9,000
T 9,000
ZOHCIAFAIA cotv EIEH XIR 3,410 5,700 A2,290
& 1,023
[ 2,387
307 212+01™ 3,410 5,700 A2,290
& 1,023
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[Ea 2,387
11 AMEISXAEEXS 3,410 5,700 22,290
O FO0HAAHFAIE CCTV &l EH] X2 3,410
s 1,023
s 2,387
ZOHRIHFAIE CIXE SSAY 22 3,643 3,716 AT3
= 2,550
=S 437
s 656
307 @12t0| & 3,643 3,716 AT3
= 2,550
= 437
[Ea 656
1 AMISXAIEEXS 3,643 3,716 AT3
O E0AHFAIE TXE =SAHY 28| 3,643
= 2,550
= 437
o 656
gojelsxa =249 1,307,000 1,235,000 72,000
=S 261,400
s 1,045,600
307 21201 & 1,307,000 1,235,000 72,000
< 261,400
[Ea 1,045,600
10 AlRIS XA EEE 22X 1,307,000 1,235,000 72,000
O Yofel=sx2 =29 1,307,000
= 261,400
= 1,045,600
e FUESHE 2 214,202 214,503 A301
= 42,600
o 171,602
307 @201 & 214,202 214,503 A301
s 42,600
s 171,602
10 Al SXAIEEHE2EHI2X 214,202 214,503 A301
O Zofel =A=ESHEH 29 214,202
[ 42,600
T 171,602
ZoHel 22+ X2ME 22 63,000 70,000 A7,000
307 elztol & 63,000 70,000 A7,000
10 Al SXAAEEHE2EHI2x 63,000 70,000 AT7,000
O el 2837 XdH 24 63,000
ZoHe! QIAEE XRHH 2 72,000 72,000 0
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307 lztol & 72,000 72,000
10 Al SXAIEEHE 22X 72,000 72,000
O Yol AIAYEXN2HH 2E 72,000
0l HE0ISKNAHEH 28 182,000 183,921 1,921
= 36,400
o 145,600
307 @I2to| & 182,000 183,921 1,921
== 36,400
o 145,600
10 AlRISTIAEEE 22X 182,000 183,921 1,921
O ZoHel H0ISK2HEH 2E 182,000
< 36,400
= 145,600
el =0SHEH =29 160,500 186,820 3,680
= 32,100
Ea 128,400
307 gl2to| & 160,500 156,820 3,680
S 32,100
o 128,400
10 Al SXAI2EE 22X 160,500 156,820 3,680
O el =SS HH &4 160,500
== 32,100
[Ea 128,400
ol MAMMEALE 2 1,833,166 1,835,733 N2,567
= 372,098
= 1,461,068
307 elztol & 1,833,166 1,835,733 N2,567
= 372,098
Ea 1,461,068
10 AlISXAAZEHE 22X 1,833,166 1,835,733 A2,567
O Zoe EsXgy 24 1,114,017
=S 222,803
s 891,214
O Zoje 22=AE 24 719,149
S 149,295
= 569,854
ZOHASXIAIE SAA SE+=& 433,000 423,390 9,610
= 129,900
[Ea 303,100
301 EtE2 NS 433,000 423,390 9,610
=S 129,900
s 303,100
02 ARSI 2E A S(FIANS, XLETHE) 433,000 423,390 9,610
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= 129,900
= 303,100
SERAANE 29 3,000,001 2,961,165 38,836
= 2,100,000
= 900,001
307 21201 & 3,000,001 2,961,165 38,836
= 2,100,000
= 900,001
10 Al2ISTIAIEEE 22X 3,000,001 2,961,165 38,836
O AL 29 3,000,001
= 2,100,000
=S 900,001
UQAAIE SAHA S85E 76,320 74,160 2,160
= 22,896
o 53,424
301 EetE2 NS 76,320 74,160 2,160
s 22,896
s 53,424
02 ARSI SE AT S(FIANS, XNLETHE 76,320 74,160 2,160
O SUQAAE SAL SE+E 76,320
[ 22,8%
Ea 53,424
FAQAAIE HEZZ | 10,813 13,280 N2,467
= 3,244
[Ea 7,569
307 el2to| & 10,813 13,280 N2,467
= 3,244
o 7,569
11 AMISXAIEEXE 10,813 13,280 N2,467
O ZARAE HEZ= )8y 10,813
== 3,244
o 7,569
SUQTAIE ALSTH| 2,252 2,110 142
= 675
= 1,577
307 elzto| & 2,252 2,110 142
= 675
Ea 1,577
11 AMEISXAIEEXS 2,252 2,110 142
O AL A2Z A 2,252
= 675
o 1,577
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